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LS04 BEAXEmRETR
RS LS04B-1000 LS04H-1000
=5 AR I e
RENETE REREE * 12 @ AR * 12 {8
BEKFaHKg) 500 1000
ESEEEH k) 100 200
EREMNBE(Mm) +0.005 +0.01
T~ = AR AR E (mm/s) 3000 2000
ESINEE(mm/s?) 1000 500
EEE T mt < 3~100 3~100
R E (mm) 475
tH R e ZE2 B R (mm) <0.05
ERE=(kg) £ 35
AT E(mm) +0.02 +0.04
BN AR T E (mm) +0.08 +0.10
R E1E(dB) 70 80




LS02 BEAXEmRETR
RS LS02B-1000 LS02H-1000
=5 AR I e
RENETE REREE * 12 @ AR * 12 {8
BEKkFaske) 100 200
SISESN=E () 20 40
EREMNBE(Mm) +0.005 +0.01
T~ = AR AR E (mm/s) 3000 2000
ESINEE(mm/s?) 1000 500
EEE T mt < 3~100 3~100
R S R B (mm) 3.0
R AR EE B PR (mm) <0.05
ERE=(kg) %20
AT E(mm) +0.02 +0.04
BN AR T E (mm) +0.08 +0.10
R E1E(dB) 70 80




